
→

2 ‘ den   1 çıktı 1 kaldı.
2 - 1        = 1

→

….. ‘ ten ….. çıktı    ……  kaldı.
…. - ….     =      ….

→

….. ‘ ten   …..  çıktı    ……  kaldı.
…. - ….     =      ….

→

….. ‘ den   …..   çıktı    ……  kaldı.
…. - ….     =      ….

→

….. ‘ dan …..   çıktı    ……  kaldı.
…. - ….     =      ….

→

….. ‘ ten   …..   çıktı    ……  kaldı.
…. - ….     =      ….

→

….. ‘ den   …..   çıktı    ……  kaldı.
…. - ….     =      ….

→

….. ‘ dan   …..   çıktı    ……  kaldı.
…. - ….     =      ….

→

….. ‘ den   …..   çıktı    ……  kaldı.
…. - ….     =      ….

→

….. ‘ den   …..   çıktı    ……  kaldı.
…. - ….     =      ….

→

….. ‘ dan   …..   çıktı    ……  kaldı.
…. - ….     =      ….

→

….. ‘ dan   …..   çıktı    ……  kaldı.
…. - ….     =      ….

ÇIKARMA İŞLEMİNİ ÖĞRENİYORUM

  




z zA A A A A A A A

A A A A A           A




 




1111
1111

1111 rrrrrr
rrrrrr

rrr
rr


 









→

….. ‘ den   …..   çıktı    ……  kaldı.

…. - ….     =      ….

→

….. ‘ dan   …..   çıktı    ……  kaldı.

…. - ….     =      ….

→

….. ‘ den   …..   çıktı    ……  kaldı.

…. - ….     =      ….

→

….. ‘ ten   …..   çıktı    ……  kaldı.

…. - ….     =      ….

→

….. ‘ den   …..   çıktı    ……  kaldı.

…. - ….     =      ….

→

….. ‘ dan   …..   çıktı    ……  kaldı.

…. - ….     =      ….


 

….

- ….

.…

….
JJJJJJ

JJJJ
J J J

J J

G G G G G G G
G G G G G

G G G G

         
    

    

 

       
       

rrrrrrr
rr

rrrr

….

- ….

.…

….

….

- ….

.…

….

….

- ….

.…

….

….

- ….

.…

….

….

- ….

.…

….


